AlynCar E|Waterline

Toll Free Phone: 800.263.7011 Toll Free Phone: 800.361.3773
Toll Free Fax: 800.459.6227 Fax: 905.625.9481

Part / Piéce #

Technical Drawing 11368

TUB / SHOWER TRIM KIT FOR DELTA

QUANTITY
PART# ITEM INCLUDED
A SLEEVE 1

B LARGE SLEEVE 1
C DOME NUT 1
D DOME BUSHING 1
E FACEPLATE 1
F
G

FACEPLATE INSERT 1
FACEPLATE INSERT 1

H1 FOAM INSERT 1
H2 FOAM INSERT 1

I O-RING 1
DIVERTER PLUG i
DIVERTER FOAM 1
FACEPLATE GASKET 1
#10-24 x 2-1/4" SCREW 2

HANDLE ADAPTER 1
HANDLE ADAPTER 1

1/4-28 x 1/2"SET SCREW 1
HANDLE ADAPTER

CRYSTAL HANDLE 1
#10-24 x 1/2"SCREW 1
LOCK WASHER 1
HANDLE BUTTON 1
LEVER HANDLE 1
#6-32 x 1/2" SCREW 1

E <4 0w O w07 B 2R o

www.lyncar.com | www.waterlineproducts.com



tye
Typewritten Text
TUB / SHOWER TRIM KIT FOR DELTA

tye
Typewritten Text

tye
Typewritten Text

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Line

tye
Text Box
L

tye
Text Box
M

tye
Text Box
H2

tye
Text Box
B

tye
Text Box
G

tye
Text Box
V

tye
Text Box
M

tye
Text Box
R

tye
Text Box
D

tye
Text Box
C

tye
Text Box
F

tye
Text Box
A

tye
Text Box
H1

tye
Text Box
J

tye
Text Box
W

tye
Text Box
T

tye
Text Box
S

tye
Text Box
P

tye
Text Box
Q

tye
Text Box
N/O

tye
Text Box
N/O

tye
Text Box
U

tye
Text Box
K




